u.x (cm/s)

u.X vs tc; sonic CSAT0536

2014 Oct 14, 10:22 - 17:17 MDT Oct 14 17:17 - Oct 15 00:17 MDT
I I I
|1
(range) mean sd/bin = (0.1-1.2) 0.9 cm/s
- (range) mean sd/bin = (0.1-0.7) 0.2 cm/s _
I I I I
-20 0 20 40

tc(RH=0) (degC)
Wed Oct 15 16:28:22 2014



u.y (cm/s)

u.y vs tc; sonic CSAT0536
2014 Oct 14, 10:22 - 17:17 MDT

Oct 14 17:17 - Oct 15 00:17 MDT
| |

"\T

(range) mean sd/bin = (0.4-1.3) 1 cm/s
(range) mean sd/bin = (0.2-1) 0.3 cm/s

20 40

tc(RH=0) (degC)

Wed Oct 15 16:28:27 2014



u.z (cm/s)

2014 Oct 14, 10:22 - 17:17 MDT

u.z vs tc; sonic CSAT0536
Oct 14 17:17 — Oct 15 00:17 MDT

lI B
(range) mean sd/bin = (0.1-1) 0.8 cm/s
- (range) mean sd/bin = (0-0.6) 0.1 cm/s _
I I I I
-20 0 20 40

tc(RH=0) (degC)

Wed Oct 15 16:28:32 2014



